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¹¿ö³ó¿ÿ½µüûß~øso
ÿ½µü »üøúó¸µ´º~øþoý
#ASI w�1ûß| 0.5 µL <15 mL ~¹¿ö³ó¿ ÿ½µü²­úwvt~y2ùWzµ´º~ÿ½µü²øþy»{�1Õþ
ß1ÿ½·ó°þ´º1kúz°ù¸¸óø1z¸sHPLC~gý~�wvó{ßuq»sxwy2
#mßxÿ½·ó°üúõüð~·Ï{¸»°ù¸¸óøþþ~û}{ttv�1÷ü¿</Ûmßw~°ù¸¸óøþþ{ÿy»ÿ
½µüûß~�ÿ=²Ówwv�put2

k�1ùWzûß~ÿ½µü²øv~{��tt�t{~¼´ùù´ó²®nw~y
ÿ½·ó°üúõüð|/}t{1ÿ½·ó°|ï�zº1ùü¹ù´ó~þ´º|O�zº~y2

TFAÿøúõûºýóùÿ~ÿ½·ó°þ´º{ttv
#TFAÿøúõûºýóùÿ {¹ÿ½·ó°þ´º²öûy»{�1ð´úÿó¿ÿ½µü~��/ß~¹¿ö³ó¿ÿ½µü|ß�
wy21.0 mL ð´úÿó¿ÿ½µü(Õ�462-1000A)²w��11.5 mL ¹¿óðüù¹¿óöó¿ÿ½µü(Õ�431-1500 )²ÿ
�}Out2
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#mß{ÿwvÿ½·ó°üúõüð|/}q¼p/}t{1ÿ½·ó°þ´º��]w~y|1üúõüð~ß/{¸»Õþf�~
ß/x1°ù¸¸óø~�Ûfx�Îf{°ù¸¸óø{¸»k� (öüúó°) |~oy»ÿýg|rº~y2�{üúõüð²�
]u{»xÿ½·ó°þ´º�ß/w~y2
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#üúõüð~g/t�»ûÿýzÕþûß{¸ºø³wOut2 {x³y~|\1ÿÿÿ\·ó°ûýó÷Ow°ù¸¸óø·¹ö
ðw�1350 µL ~»üøúó¸{zº~y2



mL80 mL/miin - 1 L/miin 15

mL
50 mL/miin - 100 mL/miin 9.0 mL
30 mL/miin - 80 mL/miin 6.0

mL
20 mL/miin - 50 mL/miin 3.0 mL
10 mL/miin - 30 mL/miin 1.5

¿L
5 mL/miin - 20 mL/miin 1.0 mL
2 mL/miin - 10 mL/miin 800

¿L
1 mL/miin - 5 mL/miin 500 ¿L

500 ¿L/min - 2 mL/miin 350

¿L
200 ¿L/min - 500 ¿L/miin 250 ¿L
150 ¿L/min - 400 ¿L/miin 200

¿L
100 ¿L/min - 250 ¿L/miin 150 ¿L
60 ¿L/min - 200 ¿L/miin 100

¿L
40 ¿L/min - 160 ¿L/miin 80 ¿L
20 ¿L/min - 100 ¿L/miin 50

¿L
10 ¿L/min - 50 ¿L/miin 25 ¿L

Úwÿ\}ÿ½µü»üøúó¸øþ¼´ù
°ù¸¸óø-Úwÿ\
#ÿ½µü»üøúó¸²øvý´óø�1Õþßxÿ½·ó°þ´º~�~ýWù²ãysxwy2t~ºÿ½·ó°üúõüð²
ß´yxÿ½·ó°þ´º|�º~y|1Õþf�|ßxvw~t~y2 s¼{¸ºÿ½·ó°üúõüð²øv�~ìoù�#d»
ûw}»g/Õþf�#e°ù¸¸óø~�Ûfx�Îf~k�ÿöüúó°ÿ~ÿýg#f»ûw}»ÿ½·ó°þ´º~ß{¸s
v~Ûw~y2 O�~è�»üøúó¸~ûß~/Ïwy2

mß ÿ½µü»üøúó¸~ûß
ÿ1¿L//min 0.5 ¿L

¿L
¿L

0.5 ¿L/min - 2 ¿L/miin 1

¿L/min - 10 ¿L/miin 5
- 5 ¿L/miin 2

¿L
1 ¿L/min

5 ¿L/min - 20 ¿L/miin 10
2



/Ûmßw~°ù¸¸óøþþ{ÿy»ÿ½µüûß~�ÿÿ1ÿ

HPLC ·¹öðër:
þm LC-10ADVP ýó÷ þ´¿ýõýüßù
þm SPD-10AVP UV-VIS }û~
þm Class-VP v5.03½õø¶·²

HPLC gþ:
°ù¸¸óø: 10-90% B in 10 min. ¹öó÷
A = H2O
B = 0.3% Acetone in H2Oþm Class-VP v5.03½õø¶·² B = 0.3% Acetone in H2O
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